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(8 marks)
Notes

(1) B1: Identifies the correct values for all 3 expressions (can score anywhere)
M1: Uses a correct identity

Alft: Correct value (follow through their g 2, —%)

(i) M1: Attempts to expand

Al: Correct expansion

Al: Correct value

Alternative:

M1: Substitutes (x + 2) for x in the given cubic

Al: Calculates the correct constant term

Al: Completes correctly by changing sign and dividing by 2
(iii) M1: Establishes the correct identity

Alft: Correct value (follow through their g 2, —g)




